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ÍÛæ̃ Û¶ÛÛ :   ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛ¾ÛÛ¶Û ™öé. 
 

1. ïäõÅÛ –ÛÁéõÅÛä× ¸ÛéþùÛÉÛ (GDP) …é¤øÅÛé ÉÛä× ? ¼Û›ÛÁõ ½ÛÛÈÛé ïäõÅÛ –ÛÁéõÅÛä× ¸ÛéþùÛÉÛ (GDPMP) …¶Ûé ÜÍ¬ÛÁõ ½ÛÛÈÛé 
ïäõÅÛ –ÛÁéõÅÛä× ¸ÛéþùÛÉÛ (GDPCP) ÍÛ¾Û›ÛÈÛÛé. 14 

              …¬ÛÈÛÛ 

 ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ¾ÛÛ¸ÛÈÛÛ¶Ûà ¾ÛæÅýÛÈÛèÜ±ù ¸Û±ùÜ©Û …¶Ûé ”Û˜ÛÙ ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. 
 

2. ½ÛÛÁõ©ÛàýÛ …¬ÛÙÈýÛÈÛÍ¬ÛÛ¶ÛÛ ¾ÛÐü«ÈÛ¶ÛÛ× “ÛéªÛÛé ›÷¨ÛÛÈÛà, ©Ûé¶ÛÛé ÈÛèÜ±ùþùÁõ ›÷¨ÛÛÈÛÛé.  14 

                 …¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¾ÛÛ× ”Ûé©Ûà“ÛéªÛ, …Ûíé²ÛéÜ•Ûïõ“ÛéªÛ …¶Ûé ÍÛéÈÛÛ“ÛéªÛ¶ÛÛé ÁõÛé›÷•ÛÛÁõà¾ÛÛ× ºõÛÇÛé ÈÛ¨ÛÙÈÛÛé. 
 

3. ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà, ©Ûé¶ÛÛ –Û¤øïõÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  14 

     …¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¾ÛÛ× ›÷¾Ûà¶Û ÍÛäµÛÛÁõÛ¶ÛÛ ¾ÛÐü«ÈÛ¶ÛÛ ïõÛýÛþùÛ…Ûé ÍÛ¾Û›ÛÈÛÛé. 
 

4. ½ÛÛÁõ©Û ÍÛÁõïõÛÁõ¶Ûà ©ÛÛ›÷é©ÛÁõ¶Ûà ÈÛÍ©Ûà¶ÛàÜ©Û ›÷¨ÛÛÈÛÛé. 14 

      …¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¾ÛÛ× ÈÛÍ©ÛàÈÛèÜ±ù þùÁõ, ÈÛýÛ›æ÷¬Û ¼Û×µÛÛÁõ¨Û, ÈÛÍ©Ûà¶Ûà •Ûà˜Û©ÛÛ …¶Ûé ¸Ûó›÷¶Û¶ÛþùÁõ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 
    

5. (A) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ×/”ÛÛé¤øÛ× ›÷¨ÛÛÈÛÛé : 5 

 (1) GNP …¶Ûé NNP ¾ÛÛ× ïõÛé̂  ©ÛºõÛÈÛ©Û ¶Û¬Ûà. 
 (2) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ¾ÛÛ¸ÛÈÛÛ¶Ûà ªÛ¨Û ¸Û±ùÜ©Û…Ûé ™öé. 
 (3) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û 1966-67 ¾ÛÛ× ¬Ûˆ Ðü©Ûà. 
 (4) ÍÛà¾ÛÛ×©Û ”Ûé¦æø©Û …é¤øÅÛé •ÛÁõà¼Û ”Ûé¦æø©Û. 
 (5) ¼ÛÛ×µÛïõÛ¾Û “ÛéªÛ ÍÛéÈÛÛÜÈÛ½ÛÛ•Û¾ÛÛ× …ÛÈÛé ™öé. 
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 (B) ”Ûæ¼Û ›÷ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (ïõÛé̂ ¸Û¨Û ˜ÛÛÁõ) 4 

  (1) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ …é¤øÅÛé ÉÛä× ?  

  (2) ÍÛÛµÛ¶Û”Û˜Ûë ïäõÅÛ –ÛÁéõÅÛä× Š©¸ÛÛþù¶Û …é¤øÅÛé ÉÛä× ? 

  (3) ¾Ûæ¦øà –ÛÍÛÛÁõÛé …é¤øÅÛé ÉÛä× ? 

  (4) ÍÛà¾ÛÛ×©Û ”Ûé¦æø©Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 
  (5) ¾Ûæ¦øàÜÈÛÜ¶ÛÈÛéÉÛ ÍÛ¾Û›ÛÈÛÛé. 
  (6) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶ÛÛé …¬ÛÙ 
 

 (C) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : (MCQ)     5 

 (1) ïäõÅÛ –ÛÁéõÅÛä× Š©¸ÛÛþù¶Û (GDP) …¶Ûé ïäõÅÛ ÁõÛÌ¤ÖøàýÛ Š©¸ÛÛþù¶Û (GNP) ÈÛ˜˜Ûé ÉÛé¶ÛÛé ©ÛºõÛÈÛ©Û ™öé ? 
   (a) ÜÈÛþéùÉÛ¬Ûà ¬ÛýÛéÅÛà ˜ÛÛé””Ûà …ÛÈÛïõ 
   (b) –ÛÍÛÛÁõÛé 
   (c) ïõÁõÈÛéÁõÛ  

 (2) ˜ÛÛé””Ûà ÁõÛÌ¤ÖøàýÛ ¸ÛéþùÛÉÛ = 

   (a) ïõÛ˜Ûà ÁõÛÌ¤ÖøàýÛ ¸ÛéþùÛÉÛ – ¾Ûæ¦øà –ÛÍÛÛÁõÛé 
   (b) ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ + ïõÁõÈÛéÁõÛ 
   (c) ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ + ÍÛ¼ÛÍÛà¦øà 
 (3) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶ÛÛ ¸Ûó̈ Ûé©ÛÛ ïõÛé̈ Û Ðü©ÛÛ ?  

   (a) ¸ÛóÛé. ¾ÛÛÉÛÙÅÛ (b) ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë (c) ¦øÛñ. …é¦ø¾Û¶Û ¹ÅÛÛéÁéõ¶ÍÛ 
 (4) …ÛÜ¬ÛÙïõ ÍÛäµÛÛÁõÛ¶ÛÛ ïéõ¤øÅÛÛ –Û¤øïõÛé ™öé ?  

   (a) ªÛ¨Û (b) ˜ÛÛÁõ (c) ¸ÛÛ×̃ Û 
 (5) …ÛÜ¬ÛÙïõ ÍÛ«ÛÛ¶Ûä× ïéõ¶®ùàïõÁõ¨Û …¶Ûé ˆ›ÛÁõÛÉÛÛÐüà …¤øïõÛÈÛÈÛÛ ¾ÛÛ¤éø¶ÛÛé ïõÛýÛþùÛé ïõýÛÛé ™öé ? 

   (a) MTPT (b) MCRT (c) MRTP 

 

_____________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



NQ-122 3 P.T.O. 

Seat No. :  _______________ 
  

NQ-122 
December-2015 

B.A., Sem.-I 

CC-102 : Economics 

(Indian Economy-I)  

 

Time :  3 Hours]  [Max. Marks : 70 

 

Instruction : All questions carry equal marks. 

 

1. What is GDP (Gross Domestic Products) ? Explain  GDPMP (Market Prices) and 

GDPCP (Constant Prices). 14 

OR 

 Explain the value added method and expenditure method of measuring National 

Income. 

 

2. Which are the important sectors of Indian Economy ? State their growth rates.  14 

OR 

 Describe the Contribution of Agriculture, Industry and Service Sectors in Employment 

of India. 

 

3. Give the meaning of Green Revolution and explain its components.  14 

     OR 

 Explain the important laws of land reforms in India. 

 

4. State in brief the recent population policy of Government of India. 14 

      OR 

 Explain population growth rate, age (group) composition, population density and 

fertility rate in India. 

    

5. (A) Write true or false : 5 

 (1) There is no difference between GNP and NNP. 

 (2) National Income is measured by three methods. 

 (3) Green Revolution started in 1966-67. 

 (4) Marginal farmer means poor farmer. 

 (5) Construction sector is a part of service sector. 
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 (B) Write very short answers : (any four) 4 

  (1) What is National Income ?  

  (2) What is GDP at factors cost ? 

  (3) What is Capital Depreciation ? 

  (4) Explain the meaning of Marginal Farmer. 

  (5) Explain Disinvestment. 

  (6) Meaning of Green Revolution. 

 

 (C) Choose the correct option (MCQ) :    5 

 (1) The difference between GDP and GNP is that of  

   (a) Net income from abroad 

   (b) Depreciation 

   (c) Taxes  

 (2) Net National Product = 

   (a) Gross National Product – Capital Deprecation 

   (b) Gross Domestic Product + Taxes 

   (c) Gross Domestic Product + Subsidy 

 (3) Who is the promoter of Green Revolution ?  

   (a) Prof. Marshall (b) David Ricardo (c) Dr. Adman Florens 

 (4) How many components of economic reforms ?  

   (a) Three (b) Four (c) Five 

 (5) To control centralization of Economic Power and Monopoly which law is 

there ? 

   (a) MTPT (b) MCRT (c) MRTP 

______________ 


